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Sr Questions Answers Choice

1 A ---------- provide a mechanism that a customer can use to set a physical address
A. Static addressing scheme
B. Configurable addressing scheme
C. Dynamic addressing scheme
D. None of the given

2 The next hop to which a packet is sent depends only on
A. Packet’s destination
B. Packet’s original source
C. Path the packet has taken
D. None of the given

3 Unlike Frame Relay and ATM, SMDS (Switched multi-megabit Data service) offers______

A. Connectionless service paradigm
B. Connection oriented service
paradigm
C. Both Connectionless and
Connection-oriented service
paradigm
D. None of the given

4 ________ has a jitter zero
A. None of the given
B. Virtual Private Network
C. Isochronous Network
D. Asynchronous Network

5 In ---------, network occupies larger areas like cities & countries.
A. LAN
B. WAN
C. MAN
D. None of the given

6 Computer networks are often called -------------- because they use packet technology.
A. Ethernet
B. Switch networks
C. Packet networks
D. None of the above

7 The Fast Ethernet hardware operates at a rate of --------
A. 10 mb
B. 100 mb
C. 1000 mb
D. none of the given

8 Local Talk is a LAN technology that employs -------------
A. Star topology
B. Bus topology
C. Ring topology
D. None of the given​

9 Which of the following is a connecting device?
A. Bridge
B. Repeater
C. Hub
D. All of the above

10 A typical port on an ATM switch operates at __________ or higher.
A. OC-2 speed (155Mbps)
B. OC-3 speed (100Mbps)
C. OC-3 speed (155Mbps)
D. none of the given


